162BP Hardware Parts List REV B
SIN.| Partno. Description Qty Location
1 | CKTFS911 [FUSE T160mAL 250V 5x20MM 2AG IEC/UL0034.3109 1 |Rear panel IEC - 230V (115V=T250mAL)
2 | CONSCWO01 |MAINS IEC SOCKET (6200-4115) 1.5MM PANEL 1 |Rear panel
3 FIN58201 |BOARD - 162BP MONO INPUT T8A1A-1 7 |Channels 1,3,5,7,9,11,13
4 FIN58206 |BOARD - 162BP MONO INPUT T8A1B-1 7 |Channels 2,4,6,8,10,12,14
5 FIN58205 |BOARD - 162BP MONO/STEREO INPUT T8A5A-1 1 |[Channel 15
6 FIN58207 |BOARD - 162BP MONO/STEREO INPUT T8A5B-1 1 |[Channel 16
7 FIN58202 |BOARD - 162BP LEFT OUTPUT T8A2-1 1 |[Channel Left Output
8 FIN58203 |BOARD - 162BP RIGHT OUTPUT T8A3-1 1 |Channel Right Output
9 FIN58204 |BOARD - 162BP MONITOR OUTPUT T8A4-1 1 |Channel Monitor Output
10 | FIN58208 |BOARD - 162BP POWER SUPPLY R7A6-2 1 |Internal Power Supply board
11 | HRDBNO011 |[SCREW M3X6 NICKEL PLATE 8 |Front panel to Base fixing
12 | HRDBN412 |SCREW M3X6 BN BLACK 4 |Power Supply board fixing
13 | HRDBN422 |[SCREW M3X8 BN BLACK 16 |Rear panel fixing
14 | HRDBNK72 |SCREW M3x5 NICKEL PLATE 4 |Front panel to Base fixing - Rack flanges
15 | HRDCS132 |SCREW M3X6 CSK (90deg) BLACK 4 |Transformer Mounting screws
16 | HRDCS652 |[SCREW M3X3.5 CSK (130deg) NICKEL PLATE 36 |Front panel - fader fixing
17 | HRDCS662 |[SCREW M3X8 CSK (130deg) NICKEL PLATE 4 |Front panel - board fixing
18 | HRDST072 |[SCREW M3x8 SELF-TAP PAN HEAD BLACK 38 |Rear panel XLR & Phono fixing
19 | HRDWS012 \WASHER M3 SPRING 4 |Power Supply board fixing
20 | HRDLW102 |WASHER M4 STAR 1 |Internal Earth Terminal
21 | HRDPWO022 \WASHER M4 PLAIN 1 |Internal Earth Terminal
22 | HRDWS022 \WASHER M4 SPRING 1 |Internal Earth Terminal
23 | HRDNTO022 [NUT M4 ZINC PLATE 1 |Internal Earth Terminal
24 | HRDCBO031 |[CABLE TIE - 100MM 5 |Internal
25 | HRDCB041 |[CABLE TIE MOUNTS 2 |Internal
26 | HRDFT102 |[FEET - RUBBER 10MM #9310010-0 8 |Rear panel & Base feet
27 | HRDKBH81 |[KNOB FADER WHITE/BLACK REAN P773 16 |Front panel controls
28 | HRDKBH91 |[KNOB FADER GREY/WHITE REAN P773 2 |Front panel controls
29 | HRDKBM61 |[KNOB ROTARY GREY/BLUE K SHAFT SIFAM 34 |Front panel controls
30 | HRDKBM71 |[KNOB ROTARY GREY/GREY K SHAFT SIFAM 16 |Front panel controls
31 | HRDKBM81 |[KNOB ROTARY GREY/WHITE K SHAFT SIFAM 62 |Front panel controls
32 | HRDKBM91 |[KNOB ROTARY GREY/RED K SHAFT SIFAM 18 |Front panel controls
33 | HRDKBP32 |[SWITCH CAP - RECTANGULAR - GREY #0004051-0 18 |Front panel controls
34 | HTDKBD81 |[SWITCH CAP - ROUND - BLACK 1 |Power Switch Cap
35 | MSSCFH92 IMETALWORK 162BP CHASSIS #0007027-0 1 |Metalwork
36 | MSSCFJ02 [METALWORK 162BP CONNECTOR PLATE #0007035-0| 1 |Metalwork
37 | MSSDEU82 [IMETALWORK 162BP FRONT PANEL #007026-0 1 |Metalwork
38 | SWTPR171 |VOLTAGE SELECTOR SWITCH K2225B 1 |Rear panel
39 | SWTSG891 [MAINS 2-POLE PUSH SWITCH (ESB92S27B) 1 [Mains Power Switch
40 | TFRTFL82 |[TRANSFORMER - MAINS 162BP 1 |Internal Mains Transformer
41 | WIRPC251 |UK MAINS LEAD EL210UK 0.75MMSQ. 1.5MTS 1 |UK Mains lead - for other types contact office




162BP Looms / Cabling Parts List REV B
SIN.| Part no. Description Length (mm) Qty
162BP - MONO FADER ASSEMBLY
1 | RESVS461 |[FADER 60MM A10K RA6020-10-08B1-A14-02 - 1
2 | WIRAW531 \WIRE GREEN UL 7/24 130 1
3 | WIRAW501 |WIRE RED UL 7/24 60 1
4 | WIRAWS521 |WIRE ORANGE UL 7/24 60 1
5 | CONDCH21 |[CONNECTOR 3-WAY STM 2.5mm HSG P24185-3 - 1
6 | CONDCI31 [CRIMP TERMINAL FOR STM 2.5mm 24185BS-2 - 3
162BP - STEREO FADER ASSEMBLY
1 RESVS471 |FADER 60MM A10Kx2 RA6024-10-08B1-A14-02 - 1
2 | WIRAW531 \WIRE GREEN UL 7/24 130 2
3 | WIRAW501 \WIRE RED UL 7/24 60 1
4 | WIRAWS521 |WIRE ORANGE UL 7/24 60 1
5 | CONDCH21 |[CONNECTOR 3-WAY STM 2.5mm HSG P24185-3 - 2
6 | CONDCI31 [CRIMP TERMINAL FOR STM 2.5mm 24185BS-2 - 6
162BP - PSU TO MONITOR BOARD LOOM
1 | WIRAW531 |WIRE GREEN UL 7/24 540 1
2 | WIRAW501 \WIRE RED UL 7/24 540 1
3 | WIRAW511 WIRE BLACK UL 7/24 540 1
4 | WIRAWS841 |WIRE PINK UL 7/24 540 1
5 | CONDCH41 | CONNECTOR 4-WAY STM 2.5mm HSG P24185-4 - 2
6 | CONDCI31 [CRIMP TERMINAL FOR STM 2.5mm 24185BS-2 - 8
7 | WIRDTO031 |SLEEVING INSULATION DAIWA DIT N315AWG-0 450 1
162BP - MONITOR TO LEFT/RIGHT BOARD LOOM
1 | WIRAW501 \WIRE RED UL 7/24 270 1
2 | WIRAW521 |WIRE ORANGE UL 7/24 270 1
3 | WIRAW511 WIRE BLACK UL 7/24 270 1
4 | WIRAW541 \WIRE YELLOW UL 7/24 270 1
5 | CONDCH21 |[CONNECTOR 3-WAY STM 2.5mm HSG P24185-3 - 1
6 | CONDCH11 |[CONNECTOR 2-WAY STM 2.5mm HSG P24185-2 - 1
7 | CONDCH41 |CONNECTOR 4-WAY STM 2.5mm HSG P24185-4 - 1
8 CONDCI31 |CRIMP TERMINAL FOR STM 2.5mm 24185BS-2 - 8




